Keneci TopT cyperre 00JIaThIH
HYKTEJIEP CaHbIH, aHBIKTAHbI3.

AKayaobl: 15;21;28






OKY
MAKCATTAPBI:

All 10.1 canawIK Ti30eKTEp
TypaJjbl TYCIHIIT 001y}

All 10.2 1i30exTin M= i Mymecin
Tadaably MbICAJIBI

1 ° 1 ° 1 . 1 .
2.3’3.4°4.5°5.6




AHbiIKmama. MywenepiH HeMipnen whbifFyFa
6os1ambIH WeKci3 caHoap XUbIHbl CaHObIK
mi36ek den amasiadbl. Al Ti30eKTi KypalTbIH
CAHJAPAbI Ti30eKTIiH MYILIeJepi Aen aTanabl




Ti130ekT1 My1Ienepl colikec MyIeaep/ iy HHAEKC] (PETTIK
HOMIP1) KOPCETUITEH SPINIICH OCNTIICHEA!:
al’ a2 ’a3, ......, an, (XX XX X ]

bepineen orcazyoa:
a, CaHbl - TI30€KTIH OipiHIIi MymIec;
a, CaHbl - TI30CKTIH eKiHII MyLIeci;

a, CaHbl - TI30CKTIH YIIiHIII MYyIIIeci;

@, CaHbl - TI30CKTIH N-1Ii MyIIeci;

Muicaabl, 2;4;6;8;10;12;... T130ekTe
a,=2; a; =I10; a, =24; a =2n
T130€KTI1H N-MYIIECIH OHBIH KAJNbI MYILECH eI

aTaiJibl )KOHE OHbI @ APKBUIBI Al TI30EKTIH O31H
KbICKaIlla ¢ HeMmece {a _} TypiHJe Ka3blia/bl




co30en
oepineoi

¢dopmyna
apKolibl
oepineoi

Canoap mizoezi \

Keneci myute
An0bIH2bL MyULe
apKbliibl

bIKMaJ1a0bl

zpagpux apKwliivl
oepineoi

1,4,9,16,25 ....
. n?

I'pagpuxmik macin

Pexyppenm

MmMIK mocui



Tiz0exmin mypaepi:

IHlexmi
Ilekci3
Ocneni
Kemimeni

Typaxkmot




Tiz0exkmep mypin aHbIKMAHBI30Ap
A)-8;-5;-2; 1:4; ...

B)-1;-2;-3; -4; ...

C) 1;1;1;1....

D)Harypan caggapra Kep1 caHaap
E)bip TanOabl xkali caHgap
F)TepTke ecenl oH canaap




TISBbEKTEPII
K¥PACTbBIPbBIHbI3

OcCy peTIMEH OpHaJlacKaH OH Tak
ca”jap

KeMy peTiMEH OopHajaCKaH aJIbIMbI
1-re TeH ayphIC OOIIIEKTEP

OcCy peTIMEH OpHaJlaCKaH JS-Ke
€cell OH CcaHjaap

5;10; 15; 20; ...




3AHJIBLJIBIKTAP/BI
AHBIKTAHBI3

1;4;7;10; 13; ... 3—Ke apTThIPY

10; 19; 37; 73; 145; ... 2 €Ce apTThIPY KOHE
l—re kemity
6; 8; 16; 18; 36; 2—Te apTThIPY MEH 2 €ce

apTTHIPYAbI KE3EK OPbIHIAY




Tiz0exmezi 3aHO0bLIBIKMBL AHBIKMAN, KeleCl eKi MYUIeHI HCA3bIHbL3.
1)3,5,8,13,
2)1,2,4,7,11,
3)3,6,12,24,
4)2,-2,4,-12, 48, 240, 1440,
5 1,4,27, 256, 3125,




342. ToMeHET] TI30eKTepiR ayraKe Gec Mymecix HKaZBIHIAD:

1) xn=2n—1; 2) xn=n2+1; 3 ='——1-——° = s
el B
13 o 272—1 1
5) H—Z b 6) an_0,5.4n; 7 b — - o =
. ) s 2 g 8) ¢, on

343. Tomenzeri Tis6eKTePaiN aramKs: Gec Mymmecis MKABBIHAAD

1)a =2+

o ? ?2) X =3n*+2n+1;
2
—» €rep n.xyn OoJica, oy 4
3)a, = ), ==
R | : 2n+3
i erep Tax, boJca;
5)bn =}/2+\/2+"'+J2_1; 6)_1/ =.__+l+ +.}_.'
n ?\;Gip § 2 o 2" ,
2
7)x" = \/_T—ZTI - ‘\/—7;; 8)d’1 i (-—1)”' +2;

gyt =1 Lad e

. coot ;
38 9 2% i







6oJica, OHIA @, @, > &,, MYLIIEJIeDIH TaObIHAAD.

349. Erep a_= S
350. Erep x, = o+ 1 Gorca, OHIA Xy, Xy, X, 15 X,,,, MYIIEJIEDIH Ka3bIHNaD,

351. Temenneri rizbeKTep ocriesii He KeMimeJ, JKoFaphIIaH He TOMEeHHey
IeHeJIIN'eH 00J1aTHIHBIH aHBIKTAHAAD:

91 1 > zn"‘l. _. P

1) G =5 2).%; =i 3) y,=(-0,9)"

on® 1 e | (‘ l)n

4) — : 5) b. = - 6) ¢, = s
T ian s ) 2n ) n
2n2 +1 on? +1 n?

D, 8) a, = ; 9 Yn =—5 =

" 4n®+5 ya, 2 ) Yn nZ2+1

. n
2
10) b, = ~{-;:-1, 11) z, = Jn+1-n.




1()A sequence U,, U,, U, ..... 1s defined by
Up+1 = 2Up4 —Upn=1

U =4andU, =4 Find the value of
a) U, [1]
b) X721 Uy [2]

(11) Another sequence V,,V, V, ... ... 1s defined by
Vn+?. ot 2Vn+1 o Vn_ n=1

a) Find V, and V, in terms of k [2]

Given that Y>_, V. = 165
b) Find the value of k [3]
2) A sequence of numbers a,, a,, a, ... ... 1s defined by

i 3 oy =T 0 f22T)
Where c is a constant
a) Write down an expression, in terms of ¢, for a, [1]
b) Show thet a; = 12 — 3¢ [2]
Given that Y7, a; = 23
¢) find the range of values of ¢ [4]




Question

Number Scheme Marks

4(i)-.(a) U, =4 cao B1

1)

(b) For realising that all 20 terms are 4
and that the sum is required. Possible
ways are 4+4+4_ ____+4 or 20x4 or

S U . =4+4+4. . +4 or 20x4 %x20(2x4+19x0)0r %x20(4+4) M1

{Use of a correct sum formula with
n=20,a=4and d=0orn=20,
a=4and’=4)

= 80 cao Al
Correct answer with no werking scores M1A1

(2)

May score in (b) if clearly identified

(ii)(a) Vi=3k V,=4k as ¥, and ¥,

B1, Bl

(2)

(b) n=S
SV, =k+2k+3k+4k+5k =165
o]

Attempts V;, adds their V,V, V, V, ¥,
or AND sets equal to 165

1 or
St = M1
2 x5(2xk+4xk) 163 Use of a correct sum formula with
or a=k d=kandmr=Scra=k I=5k
and n =5 AND sets equal to 165
%xs(k+5k)=l65 ;.

Attempts to solve their linear equation
in X having set the sum of their first M1
S terms equal te 165, Solving Fs =
165 scores no marks.

k=11 cao and cso Al

15k=165=Kk=_.

3)
{8 marks)




Question

Scheme Marks
Number
g,=3a, =2a~-c, n2l, cisaconstant
5.(2) |{a,=) 2x3=c or 2(3)-c or 6-¢ Bl
1]
0) | {a=} 2x("6-¢")-¢ MI
=12=3¢ (¥ Al cs0
2]
(© | a=2x("2-%")-c (=24 -7c) M
4
{Za, =‘ J4(6=¢)+(12=3¢)+(24=Tc) MI
ta]
"45-11c"223 or "45-1lc"=23 Ml
c<2or 22¢ Al cs0

]
1




KEPI BAUJIAHBIC=

»1.HeHi 6inagim?, HeHi ynpeHaim?

»2.Kan ecen oHau 6onabl? Kan ecen KubiH 6onabl, Here?
HeMeH XyMbICTbI XKanfacTbIpy KaxeT?

»3.Kan ecen ci3fii KbI3bIKTbIpAbI?




YU XyMbICbI:

1) Tiz6ekmiH n-wi MyweciHiH ¢hopMynachbiH Xa3bIHbI3:
a) 19; 32; 45; 58;...

6) 1;,-2; 3; -4, ...

c)1;3;12; 60;...

2)TizbekmiH anrawkbl yw MyweciH mabbIHbI3:

n _q\n+1
n= ot b= ¢, =7-2"1d,=3-2""1 e, = 43"




